Finding Equilibrium in Mixed Strategies

Tim: X ,‘{' b }.\ e4v ‘Lruw\ o mived stateivs  and wle(h)= E()')"')
CTEG, T £ E(’x 7')- E(x%, ;) & all

9
rw‘gl.h,, plek ww i L> y; =1 ,71 20 hrkj
lo..o0}
nisced L*r-*t,, with ;=) \L ot: °
n-oﬁr k*J ’

(0...0106...0)
4
x;

~> Surpu“ X Y -s b ev.\LI.UM "’LIM Vx\f E X Y )LE(X*\( )CE()( (1/> 4(4-( ez
v'u £, ¢) = E(rT) E(K,\d) Speae) tass

< Suppox ECi,T*) < E(Y*,T‘3£E()<',J> o all 1y Lt v= gy ey yen)
Lt X (*l) . xv-) uwe 0L | and Zx,‘-’
\'E VP» é -E v I
E(x,?)* yE( ') T - E()(w,; Y (M)J‘l. (%, 1)
-‘(‘2 YV) *x X)ltb

Y E(x")k“'> £ y~ E (<%, |>

RETON o BT T A

(0 ) E (XS T S EEGYS) &%, v) ¢ EO%y)
VY Bt LRy £ E(XT, )

= c s G . .
FE  03d 026 0.20 . X*= (7,0) ) Y2 (2.35,0)
C o2k 633 0.2%
S 0.2% ©o3v 6.33

E(X',‘l"):%.
VCﬁF7 sz(% O{‘) *»=(’%% 0) s tiwlrlorlwn :,:%
e El Y

Ny
(o
wJ
o
-
e
IN
o
3
+
Jk
v M
o
~
o>
*
Y]
N
O
W
&

E(,Y)=5.0%+5025=3 ¢ 5 E(x*,l}:%r0,304--‘;',019:;‘—“:% :-;
E(L,Y) = - ;% =3 E (X5 = R s <322
£(3,%) = -~ =% e E(X73) = - - - 2T 22
IS xX= (‘:: J{. O) Y:(-;. _7': O> 3% fﬁv:,lLl;dw
E(x,Y)= 08¢
EQfY= 015 E(% 1) =4 620 L6202 “:*‘ %':1”4
(de'f) né 'zul' YARTIVEN
EQY Y= o 2 265t palbim e( X,z = 6.2
eG,y)s 0.29 E(r,3) = 6.2
L bk respoinde
L 7z
L% @)
w @
X=(x 1-%) E(X, 1) = x-ta (11
= l-%x E(X51T) £ BE(x )
| E(r 1) = x 0+ (195 B £ E(x5,0)
N = Zz, 2\
el 2T X
o~ Lok espmee o X s vesmelaBaba Bt
gganlbrn. 3 ot e of (st VeSpon
\

c s Lo =1 ory o\

Oct3, 2019 Page 1



07 )
I
0e
'
o} \ )
ozl 74 08 08 10

(1D

BNz x4 301Dz 3 71 x
(D= —lx+ S(1-x)= $—bX
EY)= Ix +~3( 1K) =~ +lx

Col 1 wot vied i eguilibrive
(Y 3N vpper envt "f}

& T*=(0 y I-y)
EQ,n = =1y 3l1y)= 3~‘L/

E(LY) = §\/ +=) U—1)Z -1 +‘17

Z‘LL/:*Z%'g\/
(= 7,
\
== 7

;v.«w‘ M"W(‘hv) -2

elbu{hBA'vm 3 at w‘\‘mr of Lot VeSpon
nkesscdim of E(XNE (X,2)

-4 x=F L x E(L1)sdys L(ky) = -2y
"3 =% ¥ E@,z y+3 (1+y Ziif‘f\/
T - 7; s > L\ L]
=% X)) vt Ty
ve I-33 rr=( %)
=Lr.,12 -2
11 5 %

Oct3, 2019 Page 2



Linesr Pﬂ’smmwi
> Maeximi=e V = Ma,imu-\'/—
F < S 9\/‘>j¢d— 'S
F 030 6.1§ 6.10 E(¥ )= 0.30% +0.26%+0.28x3 2 v
C 0:zb 633 6.1% E (¥, T)= O2Sx, +0.32%; +0.30xg 2 y
S 6.2y 030 0.33 E (X,3)= 0.20x, + 0.29x, + 033585 2 y
G, T, dwide by / K, + ¥y +85 = |
‘\T" { —\T'Pl v
sl ¥ <\ X.,XUK_;ZO
bt o1d £V £ 0,33

IN

@o p = 0.26 pz - 0.28p3

—O?S P’ “ O, .;3 Pz_o. S@Pz

m puyoff mer payff
Pos:'\'v\', v (.[ v-v"-, add C &
e.“ Pw’.l/} 'b m.'a.

Pog.'\n )
and (v&lm(* GJJ' l\ﬂu
\> bor Taw, onvet b = 9.[&»5 So\.‘ be vilw
o 0ACMa)  (aww
Lovnds ~D.3DP, - O.Iépz-o.zg,,30—1$, ‘-05.‘&0;3:'4 :
%= | -0.15,, = 0.33py =0.Wpy+ 04, lgy v0g -
L ; O¢ s.,'.‘. l
ye© |
. Xy ke . 83 . Xk i
yv\ly\im‘\u. v‘—;*‘\-/" v = v
<
lin ) vebuing Pi's and L ; converk Lk b X's sl v
I
minhaiw V' SVhject b
E(LY)= 0.30y, ¥ 0.2€ y, +0-22y; £V
YodYutyz=!
E(’Z)‘T7 = 0.2y, + 033y, +028 v Y,y 20
E (3, 7’) = 60.7%9, + 030y, +033 £v
dwide by v, wt y:ﬂﬁ-
Es T +wov\ L/m | NV ' \Y)
eln’i‘ts luu’/ D L (don't vl lo mibigly by =1 He clendy £

—

igorr vs 1923 iter ,ﬂ’-
,,A,_f PR =L I N.30, v+ 0.2 . +0-20, 4[:\ |

Oct 3, 2019 Page 3




dnlte lswger

Qigorr vs 1923 iter
Zin thragh =1L in
1':"':0 ""WO- ~y nv*c..l"\“"
N T .&% Somnbwing

e Lx.>7y >l
) ( $o lov\ysl'rqo‘&rj .)

no Crav\n

wine bovndy on v
4t down & 359063 e

‘U—é7 g1 1. Is:d| L ( ‘
14 15—6 3 A 1005 Mini‘":-u_@—lb‘ g.-z} E Y bowe &4 Wmax v,
) )

(i"‘\' kvow Ly wu(\» byne Sawu 85 min V
i¢ 'lnrl-§ v o“n./ SL““)

E:r_()( Y> = ZZ Koy ay
hor-conon 2 = g3t '—_"Jv\ltw (a“L apptar in o(ajrc{w, Av\
lown H% S,Skwi ‘b ofl'wwi.'_ >

E][ (X,‘l’) = Z Z: X; '\/’l 'L;; nown—lhae. fmgraw\w»i.,j

Oct 3, 2019 Page 4



